Days 8-12 : Simplification

SOLUTION:
Variety Questions

Sol 1. (d)
2x3+20f3%x2+(4+4%x4 +4
of4-4+4x4)
=2x3+6%x2+(4+4%x4+-16-4
+4x4)

:2><% x2x]1=2

Sol 2. (d)
2% +(3g+%0f2%)>< [(2$0f4%
+2)><5]
3 9
ST (B [10] =5

Sol 3. (¢)
(5t3+5x%x5)/(3+3 of 6) of (4 x

4+4 of 4+4+ 4x4)
= (5+3+5%5)

(3+3 of 6) of (4x4+4 of 4+4+ 4x4
= _8

éofS

4893
:>5 95

Sol 4. (b)

1.0025+6.25x107% :>( 1.00250625 \ —
0.0025+0.95 0.9525

1.0525

Sol 5. (b)
5+50f5%x 242+ 202 %5~ (5-2)
+6x2=5+25x2+2+4x5_3+
6x2

= §X2+3x5-3x2=%43-1
=425 =1

10 10
Sol 6. (d)

§of(3=3o (i
of Hof(5+5x30f D)

> %of§+%0f§§
ﬁ%—ﬁ)io
= pxuo- g

Sol 7. (a)
16+40f4x[3+d0f{4x3~
(3+3)}]+(2+40f8)

=16+ 16%[3+4 of {4x3+6}]
+(2+32)

= 1x[3+40f2]+

3 - 1 —
:lxg'm 6

Sol 8. (¢)

gof(5i+2% of )+ (8
+§off5‘) 0f(8X§ +§‘)

= gof(a-l + ?)+(8+ %)of
(8x32)

= §of & +150f 2

= %+100

L
= 30

Sol 9. (a)
45-(32+08x5)+3x4+6
= 4.5-(4 x 542

= 6.5-20

—_13.5

Sol 10.(a)
5+100f 10 x4+4+40f 4x 10—
(10-4)+16 x4
=>5+100><4+4+16X10-§ x 4
= & x4+3-]

=02+1=12
Sol 11. (a)
(3%,35)+.$ (.IJ)+§
HEEG TG

_ 13 _ 13

S
i@y p8 o

Sol 12. (d) Given fraction is
X X + X X
57.5%57.5+32.5x32.5-57.5x32.5
5.75%5.75%5 7543 25x3 25x3 25
(5.75%5.75+3.25%3.25-5.75%3.25) x 100
=

(5.75 +3.25) (5.75%5.75 + 3.25%3.25 — 5.75x3.25)
(5.75%5.75 + 3.25%3.25-5.75%3.25) x 100

= T%o =0.09
Sol 13. (¢)

\a+124 =1+ 12=16=4

Practice Questions

Sol 1. (d)

74 x 31 =44 of 51)+[11-(
$43-14)]+53 -5+-5x50f
5+25

= Lo (8 24)411- 21+ &
-1 x25+25

= Jzixlls+§89+243-1
=>1+3-1=11
Sol 2. (d)

6-6+6%x6+(6+60f6)%6-
Gi+8of s

= 6-6+(6+36)x6-(L + H)=5
= 1 x6-15+5

=>13=-2

Sol 3. (¢)

P21 % Jof1frEx3gs
Zof21

o EERL T RT B
:>i><4+%

=31

Sol 4. (a)
3.8-(42+07%3)+5x2+0.5
=3.8-(6x3)+5x4

= 3.8-18+20

=58

Sol 5. (d)
28+(52+13x2)-6x3+8+
2

= 2.8+(4 x 2)-2.25+2
=28+8-225+2

=10.55

Sol 6. (b)
72+(84+0.12%02)-5x%x 3=+
0.05+3

= 7.2+ (70 x0.2)-5 x 60+3

= 7.2+ 14-300 + 3

=.275.8

Sol 7. (b)

58+ (74+37X5)-6X2+
2.5

=58+ (2x5)-6 x 0.8

= 58+10-4.8

=11

Sol 8. (d)
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384(82 « 4.1 x2)-4x3 =+
1.2

= 3.8+ (2x2)-4 x25
=38+4-10

~ 22

Sol 9. (b)
75+(54+45%x2)-8 x4+
3.2

=7.5+(1.2x2)-8x1.25
=75+24-10=-0.1

Sol 10. (¢)

108 +36 x4+25%x4+0.5-10
=>3x4+25x8-10
=12+10=22

Sol 11. (d)
216+ 3.6x2+025x16+4-6
=6 x2+025%4-6
=>12+1-6=7

Sol 12. (c)
152458 +2.9x2-3.5x2+0.5
= 152+2x2-3.5 x4
=19.2-14=52

Sol 13. (¢)
93+[23 + {41 (23 + D]
LRSS

—[163—5]

+2

=

=

=

B i e e

CHSL

Sol 14. (d)
Prof fxgegs
(+3of )

3 -9 44,5 -1 215
=377 337 2-(513)

2 3
sof 3-

16 45 1
=95
)

9

Sol 15. (c)
3:{5-5+(6-T)x8+9}
4+4x4+4 of 4
3+{5-5+(=1)x8+9
4+4x4+16

= 3+{5+5x84+9}
4+1

3 - L
54x5 90
Sol 16.(d)

3x2+3 0f 12 - 3+2x(2-3) %2+
3+20f3
>3x2+36-3+2%x(-1)x24+3+6
=3 é+3+%

= %=31

Sol 17.(a)

3x2+3 of
2X3+(5+5X5+50f5—5+100f%)
=3x2+6%x3+(5+5x5+25-5+

2)
=3 x

Sol 18. (a)
Ghor =t

X 2
12

1;2.1
2(5 7 %
8 . 4_
=375
Sl 4
26-5= %

— (& <104 x7})

)+4__L><3§)><_5_
9 24 1
3 S
lOXIZ

Sol 19. (b)
3x6+40f6-6+2x(4-6)+4-2
><3+60f-;

=3 x6+24-3x(-2)+4-2x 3

= 3 +6+4-3

=>7§‘

Sol 20. (a)
150f8-6+[(27-3) ~ 6 — 4]
= 120-6+[4-4]

=114

Sol 21. (b)
150f8+6+[(27-3) + 6 + 4]
= 120+6+[4+4]

=134

Sol 22. (d)
Gird)d &4
-G T TG
9

= ¥ = 19 _ 19
8-y B8 M

Sol 23.(a)

(Ghrd)- &)+
HEE T RE)

:)l??_:1_9

Sol 24. (c)
oL
L3+ E))

L9
= 8 19
-§+1 9
Sol 25. (d)
46-40/32°6 46246 _ |
37-4 of (34-6) 37-21

Sol 26. (d)
464 0f 326
1142 of (34-6)

= 462246 _ |
11421 2

Sol 27. (c)
46+4 0f 326
11+3 of (34-6)

= 404246 2
11+21

Sol 28. (a)

240f(2= -3+ B 4)
= Tof (F)(Z+1)

= -1 =0

Sol 29. (¢)

[1iof 3 -(1E 1) x331+(§
+5)

[8or{3-f < 31+ &
=[fof {3-3]+ %

= %Tﬁ =1

Sol 30. (d)

0f8 {21_(i+3><11+§)}
:>4_{.Ll (i+3 X 45)

> §+ (42

=4
Sol 31. (a)
001404 001404 001404
2462144 612-144 612-144

-5
= Wk -3 10

Sol 32. (c)
{liof(23+12)-135}
+i+2t+2+1
=>{20f(3)-HE 1+ H+3+}

2 Uyl-M-1
:12 + 12 6
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